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X 1 K . "X ) A )2 I )=7) 3 LHC
* . AT 2 I =7 3 LHC
* BOTLHIZH TR 3 CHC
* A5 TKESROF—F XTI 4 OHCE
* . B STTT=7 3 CHC
’ JKIETT =25
*x i 21N . (FRDDTSTIT=7 3 LHC
* 10: 22 I )V A5 I =) 3 LHC
* 12: A= 5 J1)=2) 3 LHC
13 D=2 ANA)L=")
* 15: NeHI) D I =2 3 LHC
* 15. VTN I =7 3 LHC
21 ==yl
3 i . JBCHBI=
* BT BOTRTBRE—FXYE 4 OHE
*x:i 6 H : FENBUST 7 =X1T=7% 3 CHE
* . NEWIRAELAD 5 )1 )—=2) 3 LHC
* 1030 AN FE 5T 3 CHE
* 1245 iV 7= U ) =X~ 4 OHC
* 1530 iV /7= )1 )=7) 3 LHC
* 1830 iFv L I =7 3 LHC
* 19.00 /N J N3 )1 =7 3 LHC
*x i (W 980 i )pA V=027 ) =0 3 LHC
* 1000 :UT 1 —=AIJDV)VAI 2 I =7 3 LHC
* 1230 i =214 KD =7 3 LHC
1300 : =" A1)
* 1530 i DHNB I =7 3 LHC
* 2030 : JOF v U IS IV A =7) 4 LHC
*x i 81K 930 (JFIAL AT IT)=7) 3 LHC
* 930 AN =) 3 LHC
* DB T AT ZH LRSI 3 CHE
* 1048 TKEEBO F=F XTI 4 OHCE
* 1580 T RETHTTT=7 3 LHC
DO:B0 TIKET =2
*x 9K TTOR0 IR DTS TIT=% 3 LHC
* 10:.00 i )2y J)b 7))V A2 I =7 3 LHC
* 12304 ="JDO 35 J1J=7) 3 LHC
1300 : D ="J A1)V =7
* 1530 :iDEHI D I =7 3 LHC
* B30 TSRS T 3 CHE
2100 =050
* :10iF: 930 :YKB202002 J1)=7) 3 LHC
* 930 (G| BYD JI=2) 3 LHC
* 1230 :JT)b_—=2I)>5 )1 )—=7) 3 LHC
* 1230024 XD )1 =0 3 LHC
* 1530 :/\veE=22 J1)=7) 3 LHC
* 1530 ([FdssD o =7 3 LHC
* 2030 JO0F v U IR A1)—=7) 3 LHC
* AT ETHO00 TS THERBIS 3 557 HC
* 1900: )23 )23 )1 )=7) 3 LHC
12T H i 12830 1 YAY AB¥I=
* POZ0TRIB =T XITF 4 OHC
* A8 TR0 HEENBU T A== 3 LHC
* 9.30 iINEWIAELA/Z I )= 3 LHC
* 1230 A F=D 5 TIT=2) 3 CHE
* 1245 iV )= JUS ) =X~ 4 OHC
* 1530V /7= )1 )=7) 3 LHC
* 1830 :Fv L I )2 ) =7) 3 LHC
* 1900 /N A S T )=7) 3 CHC
* 14 W 930 i JpA V=) )= 3 LHC
* 1000 i UT 14 =AUV A I =7 3 LHC
* 1230 i=2D4 RIS J1 =7 3 LHC
18300 iV =2 A1)l
* 1530 :iDHNDNCI D =7 3 LHC
* 2030 : JOF v U IIN TV A=) 4 LHC
* 15 K 930 (F)0A )24 ) I )=7) 3 LHC
* 930 (AN =) 3 LHC
* DB T = L S0 3 CHE
* 1045 KESROF=FXIR Z GHE
* 1530 XET5T1T7 3 CHE
2080 KETT =2
* 16T AT QR0 IR DTS TIT=T 3 CHE
* 10:00: )2y JILI IV ADI D I ) =2 3 LHC
o oo 7

/A
3
(X 16: A~ . A)=73J)1)=7) 3 1% 5%0 LHC
K =" ANA)V) =2
* 5. NSO I =7 3:i1,900: 1,900: LHC
* [o¥ TN I =7 3 i 1,900: 1,900 : LHC
1 =g >
*x i1/7imi 930 iYRB2020205 =2 311,900 1,900 LHC
* 930 G| BUD =2 3i1,900: 1,900 LHC
* 12830 i )T )V_—=D>2 )1 )—=7) 31 1,900: 1,900 LHC
* 1230024 XD )1 )= 3i1,900: 1,900 LHC
* 1930/ \wvE=205 J1)=7) 3 i 1,900: 1,900 : LHC
* 1930 i dDinNs =5 I —7) 3:1,900: 1,900: LHC
POB0TEARENT=S
18: T 930 :MVBCHBI=
* 1300 :MBCZ—_J > A= 3 i 2,400 : 2,400 : MBCHC
1330 THETIIY=HNES
19: H: 930 iU Jr—=
* POB0 TR TER—F XY SO0 SO0 OHE
* OO0 ETOR0 IIENEUT 4 =) =H 1,900 : 1,900 : LHC
* 930 INEWIRAEAD S I =7 1,900 i 1,900 : LHC
* T80 HEH FE IS5 T TT=2 1,900 i 1,900 LHC
* 1245 iV )= JUS ) =T X~ 2,00 2900 OHC
* 19030 iV =22 )1 )= 1,900 i 1,900 i LHC
* 1830 iFv LI )= 1,900 1,900 LHC
* 19.00 :/N NI 2 1) =7 1,900 : 1,900 : LHC
X i21: Wi 930 ( JpA =3 )1 )= 1,900 : 1,900 : LHC
* 1000 :UT 1 =X JD)VAD D I =7 1,900 : 1,900 : LHC
* 1230 i =D RIS )= 1,900 : 1,900 : LHC
1300 : ) =" A1 )L
* 1530 i DANCE I =2 1,900 : 1,900 : LHC
* 20380 JOFp U IIYI IV A =7 2,900 : 2900 : LHC
* i 22: K O30 (DF )AL PS5 T )=7) 1,900 1,900 : LHC
* 930 iANID =7 1,900 : 1,900 : LHC
* 12380 i AN=F L ~7)=5 )1 —7) 1,900 1,900 LHC
* 1245 7J<H'?E’_3§E0)\—T><‘Jl\ 2,00 2900 OHC
* 1530855 TIT=% 1,900 1,900 LHC
SOBO TKET=%
b HE TSNS IS PPN F—=/A i 4,400 =HC
2100 =BS5S
*IOATE TR0 TYRB2ODOYS IS G900 18007 THE
* O30 IG T BUSITT=% 1,900 : 1,900 : LHC
* 1230 : 0T )b_—2D>2 )1 )= 1,900 : 1,900 : LHC
* 1230 : 024 A2 )1 )= 1,900 : 1,900 : LHC
* 1530 :/\vE=D5 J1)=7) 1,900 : 1,900 : LHC
* 1930 ([0S D I —=7) 1,900 : 1,900 : LHC
* 2030 i JOFv U IIRIATT=7) 2,300 : 2,300 LHC
* i25: T 1900: )43 02 )= 1,900 : 1,900 : LHC
20 Hi 1280 i YAYAS J)LA) =2
* 2030 T EEF=FXJR 2,00 2900 OHC
* 2T H TSR0 HEEME U T =) =7 1,900 1,900 LHC
* 9.30 EWIRELAD S I ) =7 1,900 i 1,900 LHC
* 1280 HEH TS TTT=2 1,900 1,900 LHC
* 1245 N )7 — JUS ) =T X/~ 2,00 : 2900 : OHC
* 1530 iV =223 )1)=7 1,900 : 1,900 : LHC
* 1830 :iFv LI )= 1,900 : 1,900 : LHC
*x i28: Wi 930 ( JpA =3 )1 )= 1,900 : 1,900 : LHC
* 1000 :UT 1 =X ID)VAD D I =1 1,900 : 1,900 : LHC
* 1230 i =21 KOS )= 1,900 : 1,900 : LHC
1300 : =" AN )U
* 1530 i DANCEIS I =2 1,900 1,900 LHC
* 203830 JOFp U IINV IV AT =2 2,900 : 2900 LHC
* i 29: K 930 (F AP IS T =2 1,900 1,900 LHC
* 930 iANcID I =1 1,900 & 1,900 LHC
* TR0 T AT = TR TS TS 190071 1,8007 THE
* 1245 KESBOF=F XTI 270058007 OHE
* 1530 TS5 TT=7 18007 1,800 THC
SOBO TKIET=%
* T30KT O30 TEFEDSTS TS 1,900 : 1,900 : LHC
* 10.00 : 2y )L D)V A 2 I =7 1,900 1,900 LHC
* 1230 i A)="JO>5 J1)=7) 1,900 : 1,900 : LHC
1300 : =" AU =2
* 1530 iDEHI S I =2) 1,900 1,900 : LHC
* 1930 i/ T NI 5 I )= 1,900 : 1,900 : LHC
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